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GSQ/M-20 1684
ECONOMICS

Option I

Indian Economy—II

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. Nos. 1 and 2 are

compulsory. Attempt remaining three questions selecting

one question each from any of the three Units out of

the four Units. All questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 ,oa 2

vfuok;Z gaS A pkj bdkb;ksa esa ls fdUgha rhu bdkb;ksa ls

,d&,d iz'u pqurs gq,] 'ks"k rhu iz'u dhft, A lHkh iz'uksa

ds vad leku gSa A

1. In India, Planning Commission was set up in year 1950.

So far we have completed twelve five year plans besides

some one year plans. Economic planning has helped in

transformation of Indian economy from underdeveloped

economy to developing economy. India has witnessed

significant growth in industrial sector. The growth rate of

GDP and per capita income has also been appreciable.

(3)L-1684 1



But economic planning has not been much successful in

reforming agriculture sector and in generating adequate

employment opportunities for the youth. In India some

regions are still very backward. To give a new direction

to Indian economy, government has replaced Planning

Commission with NITI Aayog. Let us hope that NITI

Aayog will address the failure of Indian Planning

Commission.

In the light of this case answer the following questions : 16

(i) What do you mean by economic planning ?

(ii) What is NITI Aayog ?

(iii) What are the main achievements of economic

planning in India ?

(iv) What are the failures of economic planning in India ?

Hkkjr esa ;kstuk vk;ksx dh LFkkiuk o"kZ 1950 esa dh xbZ A vc

rd ckjg iapo"khZ; ;kstuk,¡ o dqN ,do"khZ; ;kstuk,¡ iwjh gks

pqdh gSa A vk£Fkd fu;kstu dh lgk;rk ls Hkkjr vYifodflr

ns'k ls fodkl'khy ns'k cu x;k gS A Hkkjr ds vkS|ksfxd {ks=k esa

cgqr fodkl gqvk gS A ns'k ds ldy ?kjsyw mRikn o izfr O;fDr

vk; dh o`f¼ nj Hkh vPNh gks xbZ gS A ijUrq vk£Fkd fu;kstu

Ñf"k {ks=k ds fodkl o i;kZIr jkstxkj l`tu esa vf/d liQy ugha

jgk gS A Hkkjr esa vHkh Hkh dqN {ks=k cgqr fiNM+s gq, gSa A Hkkjrh;

vFkZO;oLFkk dks ubZ fn'kk nsus ds fy, ljdkj us ;kstuk vk;ksx ds

LFkku ij uhfr (NITI) vk;ksx dh LFkkiuk dh gS A ,slh mEehn
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dh tkrh gS fd uhfr vk;ksx ;kstuk dh dfe;ksa dks nwj djsxk A

mi;qZDr fLFkfr ds vè;;u ds vk/kj ij] fuEufyf[kr iz'uksa ds

mÙkj nhft, %

(i) vk£Fkd fu;kstu ls vkidk D;k vfHkizk; gS \

(ii) uhfr (NITI) vk;ksx D;k gS \

(iii) Hkkjr esa vk£Fkd fu;kstu dh izeq[k izkfIr;k¡ D;k gSa \

(iv) Hkkjr esa vk£Fkd fu;kstu dh foiQyrk,¡ D;k gaS \

2. (a) Choose the correct alternative : 5

lgh fodYi pqfu, %

(i) Which of the following is the main feature of

new economic policy of India ?

(1) Liberalisation (2) Privatisation

(3) Globalisation (4) All of these

fuEufyf[kr esas ls dkSulh Hkkjr dh ubZ vk£Fkd

uhfr dh eq[; fo'ks"krk gS \

(1) mnkjhdj.k (2) futhdj.k

(3) oS'ohdj.k (4) ;s lHkh

(ii) Which of the following factors affects wage

rate ?

(1) Demand and supply of labour

(2) Labour productivity

(3) Statutory regulations

(4) All of the above

(3)L-1684 3



fuEufyf[kr esa ls dkSuls rRo etnwjh nj dks

izHkkfor djrs gaS \

(1) Ükze dh ek¡x o iw£r

(2) Ükze mRikndrk

(3) oS/kfud fu;eu

(4) mi;qZDr lHkh

(iii) Which of the following is agro based

industry ?

(1) Cement Industry

(2) Petroleum Industry

(3) Iron and Steel Industry

(4) None of the above

fuEufyf[kr esa ls dkSulk Ñf"k vk/kfjr m|ksx

gS \

(1) lhesaV m|ksx

(2) iSVªksfy;e m|ksx

(3) ykSg ,oa bLikr m|ksx

(4) mi;qZDr esa ls dksbZ ugha

(iv) Which of the following is the feature of

foreign trade of India ?

(1) Increasing volume of foreign trade

(2) Change in composition of exports

(3) Change in composition of imports

(4) All of the above
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fuEufyf[kr esa ls dkSulh Hkkjr ds fons'kh O;kikj

dh fo'ks"krk gS \

(1) fons'kh O;kikj dk c<+rk vkdkj

(2) fu;kZrksa dh lajpuk esa ifjorZu

(3) vk;krksa dh lajpuk esa ifjorZu

(4) mi;qZDr lHkh

(v) How many persons are appointed in a Labour

Court ?

(1) 11 (2) 21

(3) 1 (4) 10

,d Ükze U;k;ky; esa fdrus O;fDr;ksa dh fu;qfDr

dh tkrh gS \

(1) 11 (2) 21

(3) 1 (4) 10

(b) Match the following with their correct answer : 5

(i) Mudra Bank (a) Social security

measures for

organised workers

(ii) Mahalanobis Model (b) 1947

(iii) World Trade (c) Meeting credit

Organisation needs of MSMEs

(iv) Facility of provident (d) Second five year

fund, pension, gratuity plan

(v) Industrial Dispute Act (e) 1995

(3)L-1684 5



fuEufyf[kr dk lgh mÙkjksa ls feyku dhft, %

(i) eqnzk cSad (v)laxfBr {ks=k ds

deZpkfj;ksa ds fy,

lkekftd lqj{kk

(ii) egkyuksfcl ekWMy (c) 1947

(iii) fo'o O;kikj laxBu (l) lw{e] y?kq o eè;e

miØeksa dh lk[k

vko';drkvksa dks

iwjk djuk

(iv) izksfoMsaV iaQM] isa'ku o (n) nwljh iapo"khZ;

xzsP;qVh dh lqfo/k ;kstuk

(v) vkS|ksfxd fookn (b) 1995

vf/fu;e

(c) Answer the following questions :

(i) What do you mean by knowledge based

industries ?

(ii) Explain two main functions of IMF.

(iii) Give two suggestions to correct disequilibrium

in balance of payments. 6

fuEufyf[kr iz'uksa ds mÙkj nhft, %

(i) Kku&vk/kfjr m|ksxksa ls vki D;k le>rs gSa \

(ii) varjkZ"Vªh; eqnzk dks"k ds nks eq[; dk;ks± dh

O;k[;k dhft, A

(iii) Hkqxrku lUrqyu ds vlUrqyu dks Bhd djus ds

fy, nks lq>ko nhft, A
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Unit I (bdkbZ I)

3. What are the problems being faced by Indian industries ?

Discuss measures taken by government for development

of industrial sector. 16

Hkkjrh; m|ksxksa dks fdu leL;kvksa dk lkeuk djuk iM+rk gS \

ljdkj }kjk vkS|ksfxd {ks=k ds fodkl gsrq mBk, x, dneksa dk

o.kZu dhft, A

4. Explain various types of consultancy services. Discuss

the advantages and problems of Indian consultancy

industry. 16

lykgdkjh lsokvksa ds fofHkUu izdkjksa dk o.kZu dhft, A Hkkjrh;

lykgdkjh m|ksx ds xq.kksa o leL;kvksa dh ppkZ dhft, A

Unit II (bdkbZ II)

5. What do you mean by Social Security ? Explain various

social security measures undertaken by the government

for the welfare of workers. 16

lkekftd lqj{kk ls vkidk D;k vfHkizk; gS \ deZpkfj;ksa ds

dY;k.k ds fy, ljdkj }kjk fd, x, fofHkUu lkekftd lqj{kk

mik;ksa dk o.kZu dhft, A

6. Write a detailed note on machinery for settlement of

industrial disputes. 16

vkS|ksfxd fooknksa ds fuiVkjs dh O;oLFkk ij ,d foLr`r fVIi.kh

fyf[k, A
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Unit III (bdkbZ III)

7. What do you mean by economic planning ? Explain

various types of economic planning. 16

vk£Fkd fu;kstu ls vki D;k le>rs gSa \ vk£Fkd fu;kstu ds

fofHkUu izdkjksa dk o.kZu dhft, A

8. Critically evaluate Twelth Five Year Plan of India. 16

Hkkjr dh ckjgoha iapo"khZ; ;kstuk dk vkykspukRed ewY;kadu

dhft, A

Unit IV (bdkbZ IV)

9. What do you understand by WTO ? Discuss its

implications for developing countries with special reference

to India. 16

fo'o O;kikj laxBu ls vkidk D;k vfHkizk; gS \ blds fodkl'khy

ns'kkas fo'ks"kdj Hkkjr ij iM+us okys izHkkoksa dh leh{kk dhft, A

10. What are the main features of India’s Foreign Trade ?

Discuss the problems of India’s foreign trade. 16

Hkkjr ds fons'kh O;kikj dh eq[; fo'ks"krk,¡ D;k gaS \ Hkkjr ds

fons'kh O;kikj dh leL;kvksa dk o.kZu dhft, A
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